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Low Demand Questions 
QUESTIONSHEET 1

The diagram shows a simple food chain.
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(a)


The cabbage plants are described as the producer in the food chain. What does this mean?




[2]

(b)


Name one animal from the food chain which is:


(i)

a predator.



[1]


(ii)

a prey animal.



[1]

(c)


What does the arrow between the cabbages and the caterpillars represent?



[1]
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Medium Demand Questions 
QUESTIONSHEET 2
The diagram shows a food web  
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(a)


What is the source of energy for this food web?    



[1]

(b)


From the food web name,


(i)

the producer.    



[1]                                                                                                                     


(ii) 
a primary consumer.



[1]                                                                                                             

    (iii) 
a secondary consumer.



[1]

(c)


From the food web draw a food chain containing 5 organisms.   



[1]

(d)


A farmer sprays his cabbages with insecticide to kill the aphids. How will this affect the 




population of blue tits? Explain your answer.



[2]
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Medium Demand Questions 
QUESTIONSHEET 3
The diagram shows a pyramid of biomass for a food chain with 5 levels.


(a)

Which number represents the producer?   



[1]

(b)

Which number represents the prey of animal 5?     



[1]

(c)

Suggest two reasons for the drop in biomass of organisms in passing from level 1 to level 5?  


1.



2.
[2]

(d)

If the number of organisms numbered 2 decreased, explain what would happen to the 



population of organisms,


(i) 

at level 1? 



[2]


(ii) 
at level 3? 



[2] 
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Medium Demand Questions 
QUESTIONSHEET 4
The diagram shows a food web in a pond.

(a)

Name two animals which are the prey of the sticklebacks.



[2]

(b)

How many food chains involve the sticklebacks? 



[1]
(c)

How many animals does the perch feed on?



[1]
(d)

Large numbers of parasites live on each perch. Draw and label a pyramid of numbers for the food chain.







Algae          Tadpoles        Perch        Parasites


[2]
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Medium Demand Questions 
QUESTIONSHEET 5
Read the following passage which describes some of the feeding relationships in a pond.


(a) 
Construct a food web using the information in the passage. 


[5]

(b)  (i)
What is likely to happen to the population of water beetles if all the tadpoles die.



[1]

      (ii) 
Explain why.                                                              



[2]
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Medium Demand Questions 
QUESTIONSHEET 6
The graph shows the number of owls and mice in an area of woodland over an eight year period.






(a) 

Which animal is the predator?   



[1]

(b) (i)

Describe the change in the population of mice from 1988 to 1992.      



[3]


(ii)

Suggest two reasons for the fall in mice numbers during 1992.



1
[1]



2
[1]

(c) 

Why does the owl population fall between 1993 and 1994?           



[1]

(d)
(i)

What would happen to the population of mice if a large number of the owls die out?



[1]

     (ii)

Explain why this change would take place.                                               



[1]
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High Demand Questions 
QUESTIONSHEET 7
The diagram shows the energy passing through a food chain.


(a)

Calculate the amount of energy available to insects (X).



[1]

(b)

Calculate the amount of energy available to the frogs (Y).



[1]

(c)

What percentage of the original energy from sunlight reaches the insects?

                                                                                                                   Answer
[2]

(d)

Name two ways in which energy is lost by insects.

          1.
[1]

          2. 
[1]

(e)

Use the information on the diagram to explain why food chains rarely have more than five stages.



[2]
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High Demand Questions 
QUESTIONSHEET 8
Pests can reduce the yield of crop plants. The amount of energy transferred from crops to the stock animals and, eventually, to man can be significantly reduced.

(a)


The diagram shows how energy flows through a managed grass crop.




The width of the arrows in the diagram represents the amount of energy being transferred.




(i)

Give two reasons why not all the light energy reaching the ecosystem is used in producing 




food materials in the grass.


1. 





[1]


    2. 





[1]


(ii)

A significant amount of the energy transferred to the stock animals is not transferred to man. 



Suggest two strategies a farmer could adopt in order to minimise this energy loss form his 



stock animals.

1.

Strategy



[1]






Explanation



[1]

2.

Strategy



[1]






Explanation



[1]
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Tadpoles





Algae





Water snails





Leeches





Microscopic plants are eaten by tadpoles, water fleas and mosquito larvae.


Insects such as water beetles and water boatmen feed on the tadpoles.


Small fish prey on the water fleas and mosquito larvae.


Large fish feed on the small fish, water beetles, water boatmen and tadpoles.
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